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(-28)x(-7) + (-7.1)x
(-1000) x(-0,06378)
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(-100)x63 ¢ 48,8x(-1)
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(-28,16)x(-10) ¢ (-1)x(-40,9) ¢ (-335)x0

(86) + (-9)x(-2) -
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C}B;A«_wa\
B=-8x3x(-3)x(-5) ¢ A=(-6)x0,001x(~7,5)
" axbh = —18 1ums st ol sde e b s a
bx(—4)xax(—1,5) ¢ ax(—5)xb A0l Cletaad) Caal
-bx3,2x(-a)x(-4,5) ¢ ax(-9)x(-b)
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48 -21 39 -18 | -519 | 816
(-30)
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—__39 142 ¢ _473 ¢ —ﬁ ¢ __3 ¢ ﬁ ¢ __7 ¢ 1_6
-65 -28 -5,5 12 -8 -15 4 25
caliall daall as ol
T2_ 16 ¢« =35 ¢« M_gg 1—2_ ¢ =15
cliall daall as ol
LX(-97)=0 ¢ -24x..=165 ¢ -49=..x(-56) ¢ 45x..=-81
-3,8x...x(-5)=-57 ¢ -38x..x(-5)=-57 ¢ 9l=-52x..
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B = 2x(-4)x8x(-16)x 32x (~64) x15625x ( ~3125) x 625 (~125) x 25%(-5)
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